

В. 64. Моштыева Тамара.

В. 64. Моштыва Паша.

④ $p(x|\alpha) = \frac{\alpha}{x^{\alpha+1}}$ при $x \geq 1$.

$$g(k) = \langle e^{ikx} \rangle = \int_{-\infty}^{\infty} P(x) e^{ikx} dx = \int_{-\infty}^{\infty} \frac{dx}{x^{\alpha+2}} =$$

$$u = e^{hr} \frac{du}{dr} = h e^r$$

$$\int_{-\infty}^{\infty} f(x) \delta(x-d) dx = f(d)$$

$$x=1 \quad \left\{ \quad z = -x \quad dx = -dz \right.$$

$$\Rightarrow d \in \mathbb{C} \quad \text{für } \lambda \in \mathbb{C}$$

kind:

$$= \int_0^1 (1-x) \cdot (1-x) \cdot x \cdot dx = \frac{1}{6}$$

③ z_1, z_2, z_3 - unabhängig. $p(z) = Az$ $0 \leq z \leq 2$.

$$\int_0^2 p(z) dz = 1 \Rightarrow \int_0^2 Az dz = \frac{Az^2}{2} \Big|_0^2 = \frac{4A}{2} = 2A$$

$$\Rightarrow A = \frac{1}{2}$$

$$z_2 = S - z_1 \quad 0 \leq z_1 \leq 2$$

$$p_{S_2}(s) = \int_{-\infty}^{\infty} p_{z_1}(z) p_{z_2}(s-z) dz = \int_{z_1}^{z_2} A \frac{1}{2} z \frac{1}{2} (s-z) dz =$$

$$= \frac{1}{4} \int_{z_1}^{z_2} (sz - z^2) dz = \frac{1}{4} \left(\frac{sz^2}{2} - \frac{z^3}{3} \right) \Big|_{z_1}^{z_2} = \frac{s}{2} - \frac{2}{3}$$

$$p_{S_3}(s) = \int_{z_1}^{z_2} \frac{1}{2} z \left(\frac{s}{2} - \frac{2}{3} \right) dz = \frac{sz^2}{8} - \frac{z^2}{6} \Big|_{z_1}^{z_2} = \frac{4s}{8} - \frac{2}{3}$$

$$I = \lim_{n \rightarrow \infty} \frac{1}{n} g(k) = \langle e^{kx} \rangle = \int_0^2 p_x e^{kx} dx = \int_0^2 \frac{1}{2} z e^{kz} dz =$$

$$= \left[u = z \quad du = 1 \right] = \frac{e^{kz} z}{k} \Big|_0^2 - \int_0^2 \frac{e^{kz}}{k} dz = \frac{2e^{2k}}{k} - \frac{e^{kz}}{k^2} \Big|_0^2 =$$

$$= \frac{2e^{2k}}{k} - \frac{e^{2k}}{k^2} + \frac{1}{k^2} = e^{2k} + \frac{1}{k^2}$$

$$I = \max_k S - \ln \left(\frac{2e^{2k}}{k} - \frac{e^{2k}}{k^2} + \frac{1}{k^2} \right) = kS$$

$$I_k = S - \frac{1}{\frac{2e^{2k}}{k} - \frac{e^{2k}}{k^2} + \frac{1}{k^2}} \left(\frac{4e^{2k}}{k} - \frac{2e^{2k}}{k^2} - \frac{2e^{2k}}{k^2} + \right)$$

②. $\langle Z_1^4 \rangle = 12$ $\langle Z_2^6 \rangle = 15$ $\langle Z_1 Z_2 \rangle = 10$ Используя формулу

$3 \langle Z_1 Z_2 \rangle^2 = 12$

$\langle Z_1^2 \rangle = 2 = a$ $\langle Z_2^2 \rangle = b$ $\langle Z_1 Z_2 \rangle = c$

$\langle Z_1 Z_1 Z_2 Z_2 Z_2 Z_2 \rangle = 10$

① 2 пары $Z_1 Z_2$: 2 из 4 Z_2 : $\binom{4}{2} = \frac{1 \cdot 2 \cdot 3 \cdot 4}{1 \cdot 2 \cdot 1 \cdot 2} = 6$

спарить 2 Z_1 : $2! = 2 \Rightarrow 12$: вынос разб. $c^2 b$

общий вынос $12 c^2 b$

② $a b^2$: разбить на пары 4 Z_2 : $(4-1)!! = 3$
 \Rightarrow вынос $3 a b^2$

$\langle Z_1^2 Z_2^4 \rangle = 10 = 12 c^2 b + 3 a b^2$

6 Z_2 : $(6-1)!! = 1 \cdot 3 \cdot 5 = 15 = b^3 \Rightarrow b = (15)^{\frac{1}{3}}$

$c = \sqrt{\frac{5 \cdot 10 - 3 a b^2}{12 b}} = \sqrt{\frac{5}{6 b} - \frac{a b}{4}} = \sqrt{\frac{5}{6 \cdot \sqrt[3]{15}} - \frac{2 \sqrt[3]{15}}{4 \cdot 2}}$

$\hat{C} = \begin{pmatrix} a & c \\ c & b \end{pmatrix} = \begin{pmatrix} 2 & \sqrt{\frac{5}{6 \sqrt[3]{15}} - \frac{\sqrt[3]{15}}{2}} \\ \sqrt{\frac{5}{6 \sqrt[3]{15}} - \frac{\sqrt[3]{15}}{2}} & \sqrt[3]{15} \end{pmatrix}$

$$\textcircled{1} \quad \hat{C} = \begin{pmatrix} 4 & 1 \\ 1 & 2 \end{pmatrix} \quad Z = X \cos \varphi + Y \sin \varphi$$

$$V = Y \cos \varphi - X \sin \varphi.$$

$$P(Z, V) = P(Z) \cdot P(V)$$

$$E[ZV] = E(Z) E(V) = E[X \cos \varphi + Y \sin \varphi] E[Y \cos \varphi - X \sin \varphi] = (\cos \varphi E[X] + \sin \varphi E[Y]) (\cos \varphi E[Y] - \sin \varphi E[X])$$

$$= -\sin \cos E[X] - \sin^2 \varphi E[X] E[Y] + \cos^2 E[X]$$

$$\textcircled{3} \quad g(k) = \langle e^{kx} \rangle = \int_0^2 \left(\frac{s}{2} - \frac{2}{3} \right) e^{ks} ds = \int_0^2 \frac{s}{2} e^{ks} ds - \int_0^2 e^{ks} ds$$

$$I = S = \frac{k^2 4e^{2k} - k^2 e^{0k} - k^2 e^{2k} + k^2 e^{0k}}{2k^2 e^{2k} - k e^{2k} + k} =$$

$$I = \frac{4k^2 e^{2k} - 4k e^{2k} + 2e^{2k} - 2}{2k^2 e^{2k} - k e^{2k} + k} S = \ln - 11 -$$